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Exercise 1. [IELTS Listening: Multiple choice questions] Read the information. Then listen and

choose the correct answer, A, B or C,
1. Josh thinks other students will enjoy his and Kate’s presentation on shopping malls because
A. they may be surprised by some of the statistics.
B. the topic is something everyone has an opinion on.
C. plenty of images will hold their attention.
2. Kate and Josh agree that the main problem with the Bayview Centre Mall is
A. the lack of transport options.
B. the design of the mall.
C. the limited opening hours.
3. Why is Kate disappointed with the survey she carried out at the Bayview Centre?
A. Only a narrow range of people answered her questions.
B. She didn’t get the number of responses that she wanted.
C. The questions weren't useful for getting detailed information.

4. Professor Simmons’ article claims that people have mainly stopped shopping at malls

because
A. they prefer to shop using the internet instead.
B. they have less money to spend than they did before.
C. they no longer want to buy unnecessary things.

5. Joanne Derrick’s article claims that many shops lose business because
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A. their products are not displayed in an appealing way.
B. they have no specific target market.

C. they no longer satisfy their older customers.

Exercise 2. [IELTS Listening: Multiple choice questions] Read the information. Then listen and

choose the correct answer, A, B or C.
1. Which method of communication is often forgotten?
A. online messaging B. body language C. discussions
2. The speaker is positive that the audience has
A. shown similar behavior to an animal.
B. been in a position of power in their career.
C. seen certain body language on television.
3. The speaker believes that job interviewees
A. would prefer to appear small.
B. usually sit high up straight in their seat.
C. reflect body language of the interviewer,
4. People whao produce less cortisol feel
A. successful B. relaxed C. depressed
5. The speaker suggests that each morning, people
A. try to achieve an ambition.
B. do a task more effectively.
C. stand in a particular way.
6. Some participants were left out of the Columbia research findings because
A. they did not complete the activity.
B. they did not understand what to do.

C. they refused to do what they were told.
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Exercise 3. [IELTS Listening: Multiple choice questions] Read the information. Then listen and

choose the correct answer, A, B or C.

1. What does the speaker say most people find surprising about psychologists’ studies of

emotions?
A. how much research into emotions has been carried out
B. how recently research into emotions began
C. how few distinct emotions have been identified
2. What does the speaker think might surprise the audience about Eckman’s list?
A. the lack of positive emotions
B. the inclusion of surprise as an emotion
C. the fact that he forgot some key emotions
3. The speaker refers to drinking a milkshake because she wants to
A. show how people sometimes fail to experience true happiness.
B. comment on an everyday experience of happiness.
C. illustrate how the experience of happiness varies.
4. What does the speaker think has most impact on people’s experience of happiness?
A. the individual’s personality B. people’s culture  C. the context
5. Why does the speaker comment on how people feel when they get married?
A. to give an example of how we can experience several emotions simultaneously
B. to suggest how happiness can be more powerful than all other emotions
C. to explain how emotions differ at particular stages of our lives
6. What emotions does the speaker name in connection with people’s hands sweating?
A. nervousness B. anxiety C.fear
7. What point does the speaker make about the sympathetic nervous system?
A. It enables us to keep our emotions under control.

B. It helps our bodies cope with difficult situations.
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C. It explains how stress can make us physically ill.

8. What opinion does the speaker express about body language?
A. It makes more effective use of gestures than of facial expressions.
B. People who are good at understanding it may do well in life.

C. Students should be taught how to make sense of it.

Exercise 4. [IELTS Listening: Multiple choice — Diagram labeling] Listen and answer the

questions.
A. Choose the correct letter A, B, or C.
Cloud-seeding to provide rain

31. Boreholes provide water for

A. industrial use B. agricultural purposes C. domestic consumption
32. According to the speaker, in the past people have tried to induce rain by

A. supernatural means B. using fires C. special dances
33, There is some proof that seeding clouds increases rainfall by

A. 15% B. 55% C.25%
34, According to the speaker, why do some people not support cloud seeding?

A. The benefits of the practice are limited.

B. The costs of equipment are too great.

C. The effects of playing with nature are unknown.
35. With the amounts of meney involved in agriculture, weather control

A. deserves more investment

B. is worthy of attention

C. is surprising success story
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B. Label the diagram below. Write NO MORE THAN TWO WORDS for each answer.

How cloud seeding works
From the air From the ground
3 i flares
f
:;crgggerom Silver iodide crystals carried up
byheatto40.....................

Silver iodide crystals
released in clouds

Drops of water combine with G i
crystals to make it 37 ................. PAR ERg 28
and then fall as rain or snow
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Exercise 5. [IELTS Listening: Diagram labelling] Listen and answer the questions.

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer.

How a 3D Printer Works

Computer image:

Image created using
3D1

Look for something
that displays the 2
before printing

Additive process:

Can consist of 3
paper or plastic

Print nozzle:

Some materials are
4 in small stages.

Object is printed in
many 5

Allow several

6 for this process R
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Exercise 6. [IELTS Listening: Diagram labelling] Listen and answer the questions.

Write ONE WORD ONLY for each answer.

A simplified diagram of the Telepathy Experiment

Room 1  Brain A, called Brain A thinks

the 1 of an animal
_ Brain A wears a
: cap that records
‘ the brain’s
2
patterns

i seeing the question,
n A answers yes or no by
oking at a(n) 5

Room 2

Brain B, called Brain B asks simple
the 3 Yes/No questions

Brain B has
aln) 4
behind her head

Brain B chooses

the answer by using
an) 6

-_—
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Exercise 7. [IELTS Listening: Diagram labelling] Listen and answer the questions.

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer.

The American gumball machine

Ownerneedsa3__

[ toload the gumballs

=0,
” "~ Metal lid
Globe —
Centre Rod
. < _Candy wheel
The correct 4

of a coin pushes

Hopper system
the lever down

meant sometimes
6 gum balls

Coin mechanism
were released

Access gum by —JSEEEE 4 By
5 a e

candy door *"L‘]




